Matih 54 HwY,

2t a. 9197 .02 2

<
6 2" 2 W@ﬂ? )Q 7
c543—'3: 5’3'{/:
a2 g 3‘7434& :\934 B emaL: 3= 2"
¢ M..«SJV - 2.3 -5%3"-=°
Ftermes

2. A, —Y—[-DB)- —19-5
b —~(~8+(-9)l-~(-8-4)=—-(-r2)-/2
. ~5-(9+(4))--5-(9-6)--3-(13--5-5=-¢



#2 o -3—/—7}+/—5) c-3+7Z-5=--/
6 ~-2:(-5)(-2) = -0

= B4\ 3.4 ._9
v -F (- >-" (-3)=-2+5 - 2K
;"
5 aA. [5-9-/5-6 ___/_5’/?——6>5_/_§;__C_% :___/,, _ !
g.50 . 930 g 30 3L b
, 2 y,09.9  IL(Yrd) /Zs3 /S
C 3v.52 - 3% 52 Yt TH
9.7 4188 /8/7245) _ /8-10 /%
O 4200 - /2P0 /. OD 2o
_ ¢35 . 5

£-20 LU

IR 29 (/-5 3 LY L ] f 57§ 7
/ 2
ad 0o 2o ~ | Soo 200 TS




Q '2/3'//55 ’Z):Zé_/fgg%
ff:/fz‘“%z"?”gz
2 R4

b (4-#)5 4+

4__522/—,/—2 .4;/%
Tt e St 1=



_,é'_: -—/- "™ —f‘ — ___{._ _.Z = —
oL /0 T s IO /O

=4

/D 0.4
L8>) Li /oh; Sottle féare are /ﬂ«”@%
Sstod .
Jn petor S &atd Ve thore 2re
2.1-x m€.
5 (700, more PeasS x4 (0708 1

of X+ C.[(¥ =/ 7
ﬁ}[Hf’ W/ Arank Som soc/a, Jo by 443

0.99x  dnd JoFer— M; 0C.89.1/x . 09797
]\0%/1 fat rmose .



= c
ars Pt £0G5C
§ = 34 dut hesTode
Zt/(’n, , <
6 can Z Z or ‘/
Shasie g 6o &, L5, bt
L oYL #5—/§06'C’Y"/
fLoOoLDY (=2
L=9 g0y 52
2= FOoYL L

/8 0904



A . /O%%;,zf(z-/g)
2 @nafqg are o/%z—a////f numbers
[O0XFY = 85X 7‘5%
/Ol”fff%;’f}:(?'

[QC«C/y ~0. 17 % /asf//// @ﬁ?y @;(
I’:O/Qﬂa//:f,

5y - v C=p. Naember o4 45

¥ G454 G077, X720 -39
The ruméers Shoalo/ be F0o- Kyt rumers.



(Oz+ ¢ = o?/:rf;) = X 7‘o7;_

/00 +5{”Zf°0'
B2 = [+ 0

xX=/ y=7% Wamber /¥
//er 105514l numfor oS 0) |



Hw it 2 Motk 58
7/ -2(': 20 /PW)
0.02£=(~°; c - LY ~©,00006Y )
[ODDOOCD

(O

/0¥’2 /ODOOOOD/ﬁ@y ~c.2£:—302 /0//‘/’. /a,o.w>
(.NDZJI-:‘_ ~ 39'2_ /plﬁj —O&éc ~ 0. ODDOE f//aﬁ7
b R L
—0.,2) = @’00065///7”’)~ 3/3:7 //?(fﬁ)ooofé/’/’
(—10)=—rovooo00/P0) 0050 cORE (3
0./% = 0. 00/ pw

L/'
5Y s arlpe) S5 (o 8 pu)
(%aafjaal%ugéwf ~0.05%2 - DO [epp P
(—O. ) = —D.oor/[/ W/ —@./g;—aOO/U/J/)--/oP.



4 | ;
128 - 2% 0.000k6 =(0.0%) (0. 2)

\/o?g :(,_G?)? —-0-00/6:~@.0722~0,Q7,
0.0009 «O.0R° ]
-0, 0009 =—-0.058

. IPEEPERENP
S R EE

0y



7Y 2 2
£7 ] = Er ¢ 9. Sooo

i .
CHHT? ’907;@ v§* s o2
9@20:3/32 dov< topn | SO77 450D
D?qgg?z ’@D 2 SODZL 3pPD
““ y3% 2 3000
C . L/02°2> /SOD ol é?"’zy_?s’oa
(9% > vp?. 67° > cot
v p? = /1600 . n . 0% = 3600
= <
/500 < /600 =70 Y2 . =L @60@:50’2’

=
YR<>/500. 55002 5;{02,






72

(. Do 720 F A let w e Thue.

2. X2 100 T < x=>g0, T , >3

3. BA>2E 24 D, 7hen

" ax=zi0 F. 3:75' 7, 3x7I95 T, L2107
S x> s, & oat ey S st@y{reqnts dre e

f&('?z Qr? 3 gém/a/& 7
DQax >20"cn False_
J . £ 2.
IY- 22 <320 X <190 Uy True .
T VT e -+
1 2w T 75y alsoT , and w3 oTrue as weld,
e haot & forid 90’22'7‘//14/”74/ S w Y stowld & __
false . Ico, #% 5 are 6004 T

Onty Mumber G pates it porsdts .
XL (O _)fpS“ o yr>08 . y =9



78.
7%( af/é/pfg/pez, &/Lf/eéw f/O/‘D g@fs Qré— oZa/ﬁ/ZZL

&U/M/ 500*‘{0PD=070[D/_
So [appte /00/_

Qoﬁj,{ (O0p = YOO \
/0//4(/14} 4ré Q@@j/ //)Zd(/v 4 OQM\'/OTQQ%.
O
vaq + /0/2500
A 4 (O P =400
‘/4f»?4+/0/>—/0/> =00 - YO0
2L = JO O
4 = /600



.....

.....

Ja

2l N

9 el L’cu/

o, jrl
3. pih




Hw « 4 .

AL 21y 4 sy ik
204~ 841 247 2 /.2 G¢
o, 752 =5625 o 23%= 529
272-229
# 2. 2
(5] =9 (—‘Z) - -7% ("22""/’9
~3%-—-9 /072 =— /2K

3 3
[215’2 - ¢ G802l 4F =5
4 — ___/___./_
(3/"? J* = 9.



R A R A P L ARy B R P gn )
2oy 252232 F-o9cl 9"-2093
2°=8 2¢=26Y H-5/0 2%-vose

power /& 5 ¢ 3 & 7 F g (0 (r

(i cigel. 2 4 3 4,2 ¢ F 6 .12 4 &

/3
Lard deped of W witl £ 7
27 Y/
Vi 7

QSZ'—?? 32 4 =%, las<f ﬂ/rf‘f’[f/; 4.
2" = 7 gy s20lt) lard digit o 2
025"?—7,7 &1 Y= /5L [2) /&/a’/jﬁ' S



O?DJCQ(ZS s+ ,;/7/7/ will £ Lty same &3

g, = 9% Y=5R(Z), fos] cigid <6 F
_—0X !
90957 = furd ofipil &5 &
70 28%° ]
/ power [ 2 B 4y 5 &
_;’Q-jfg ‘st oig?t 3 9 7 L8 9 2 A
- ” |
3%> 2% 35> sl drgt 4 X
3= g/ .
ECaRS: 2% ¥ = 5R3)
3b- 072

jOQéMOK—a %a c//f// & 6



icd g7 -5 =/5°2)?’ A SR AP S AR
:3"’[3[{——/) f/"j/o./é’/——/);—fm‘q?oz
~ 3% 20.Y.
20 S a fastor of s nemer 7@@4%@,
the rumdber 5 dror8cb4 p?é&

#5 /?7‘/5' A h 67C S Lo .&7/63 a% @/Z)é’/?’)/é Wméﬂ/f

a5

M~ monc 4 A P=11D .

o = cleeghrer 1 =8 | but also rm=p- €,
9- soi So P-6 =5 ard P=5c+(.
D~ Aad

Lo vl 420+ 5+ E=17D.
/36?/:/0[// C/:/O‘/.'/g ::g.






e sC-xq P

“ 8
‘ast casfomes 50&{/47[ one @ﬁ/’é/ 372

%//é @cfj—/omaf‘ gap( %7& o/ 4/)/&{ W/ Js/ =
/aaﬂnfz/ /Aa// Zy/fﬂma,g/?ﬂ}y af/@)ﬂ”%j
Yocrlh  customer @M//Lw‘ Y aples oul of X |

3 o
thire] bouplt- Bapply odd of 15

Secornd &%td//% /6 a/f&) ou/ af 33
7{,, s /@4//7/ 3¢ o4 o 67






f7w 4.
# 7 lasS f/’f// = 0, so Lhere 7€ 2 aac/
amorg ChOse  freml nwmbess.
J 3,5+ 235 F=3537-/10=2/D
77, 75 , (7 car For @(a‘nﬂ/&—

2t T+ Y+3=/Y

73 fo//ﬁ ﬁ/1407/¢ ’(4/(’}.{. Y/Lét"”%/f as
n N+l N7l 73
/ / /
L tNA4) 4+ NEIANATS 24n~ £
Yntd = Ynty+2 = Ylnts)s2
74& [ [,9 /‘f/aff’éé'fy-/(’r/ as (f,//l-f/),.,t’z :d‘/
j{ //!ﬁ ;"//V/O/CO/{; §/ 52@’//)'9/*“2 |

T\ revecndor
faoz‘/én/ drvisor



/1bO0D O 71

:/

360D

= 550 m

(15 +4-= 025)34——32»;{7:
AP S U - S S P
52(/,5 3-2¢ g) jt‘OZ(é/,{ i
= 32 (4515 - ?)rﬁz 5—£ -
/ 32 /57 -89 D49
:302’ ﬁ,_; -5 ’j:'——_ = — — =
¥ ??) < g o ¥ Jso¥ T 6
7 Aé/(’/V/L
B T4 T4 Y= /D S
3 140000 /Y0000
- 3600 - 700



42, Tf en R days €. ancl fo eat 35 forkidt
Lo ,{c/a? trey widl ot 3507 = S sfets
One &€ and 2 € e (;a,lo 4@/5 ot 80 deshets
So cn /(/a% /4@7 will oot £ BaslerS.
/ /a{y 0l eats ( feyked a /Q;s
1 od Heph. eqls s—f-y {asked acly
//50/ 14 e /0/‘0/4/2 T, VA soldrd %or'ma/{%.
X heember alf /ﬁ;émfy 4 /4/)‘ /Wf n/ﬂ%
g o ncher oF baspets [ Octfs per q/a/

(I—/O%),}Z: 35 14;:5’

(I/JVZ)'/D:-.!@. %407;:6*
54-“"’5’-%
5~d<i—fog%:é
;-—-—o/— =1
X = S=(=4
5 SO 7= { SO
+ SO 5O { U S A=1{ U =For 9
L. Too O=0 4 OO t A4S .
PP 77 C 4 u "9 170 a4 Sz 0.
So o /’fﬁ/?l/? g
s
+ 3 QB =% |20 S=S
7 0 0 / 7
¢ COCA o=( C( (4 S=2 ¢ 3 lal
+ COLA /LA - r, 7
o4 s/ > (4 STS. can't fo oo/
So, ;‘:L
C/ (6 c= S J/56 =3 5/36
C//L é ﬁ‘;O 3)) & 7=9 5) 3 4
= (021 4L (02T L
[ AL T &



